
S comparto = mq 1.436       

S fondiaria = mq 1.436       

S viabilità =  mq -           

Sc (mq) Sc tot piani n. h (m) V (mc) Vtot (mc)
if  

(mc/mq)
ic 

(mq/mq)
Sc dem 

(mq)
H piani 

Vdem    
(mc) 

Sc ampl   
(mq)

h (m)
V ampl        
(mc) 

Sctot= Satt+Sampl-Sdem              
(mq)

Vtot= Vatt.+Vampl-Vdem                      
(mc)

if prog 
(mc/mq)

ic prog 
(mq/mq)

178,27 1 3,5 623,95           

145,86 2 6,50 948,09           

N10-2 411,28 182,32 182,32 3 9,50 1.732,04        1.732,04           4,21 0,44 0 0 0 0 0 0 182,32 1.732,04 4,21 0,44

TOTALE 1.436,08            328,18         3.304,08           2,30      0,23       182,32                                     1.732,04                                    1,21       0,13        

0,170 178,27 1572,04 1,530 0 0 01.572,04           1,53 0,32 0N10-1 1024,80 324,13

AMPLIAMENTI

COMPARTO 10a +10b

STATO ATTUALE PROGETTO
DEMOLIZIONI

Slotto (mq)lotto n.


